
Size and Location 

 

Multiple Choice Questions 

 

Tick the correct answer: 

 

1. The Tropic of Cancer does not pass through: 

(a) Rajasthan                  (b) Odisha 

(c) Chhattisgarh              (d) Uttarakhand 

 

2. Uttarakhand, UP, Bihar, West Bengal and Sikkim have common frontiers with: 

(a) China   (b) Bhutan 

(c) Nepal                         (d) sri Lanka 

 

3. My friend hails from a country which does not share land boundary with India. Identify the country. 

(a) Bhutan            (b) Tajikistan 

(c) Bangladesh                 (d) Nepal  

 

4. The Standard Meridian of India passes through which state. 

(a) Rajasthan   (b) Himachal Pradesh 

(c) Uttar Pradesh             (d) Maharashtra 

 

5. Sri Lanka is separated from India by a narrow channel of sea called. 

(a) Gulf of Kachchh           (b) Palk Strait 

(c)Colombo Gulf               (d) Gulf of Khambhat 

 

 

 

 

 

 

 

 

Answer Key 

1. (b)                    2. (c)                   3. (b)             4. (c)                  5. (b) 

 


